Conditions for TREND UP

TREND UP START on M30

① TS D1 > 0.4 on current candle
          &&
② H4 > 0.8 on current candle
          &&
③ H1 > 0.8 on current candle
          &&
④ M30 > 0.8 on current candle
          &&
⑤ Pow H4 Lime color and "*" mark on current candle
                     &&
⑥ H1 Lime color and "*" mark on current candle
                     &&
⑦ M30 Lime color and "*" mark on current candle
                     &&
⑧ TP2 H4 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑨ H1 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑩ M30 Lime color and "R1" / "R2" / "R3" on current candle


In the area of "TP2", all time frames(H4, H1 and M30) should have a same value at the same time.
For example, if H4 has a value "R1", then H1 and M30 should have a value "R1".
And all "R1" on H4, H1 and M30 should show a Lime color at the same time.
And also, all time frames(H4, H1 and M30) should NOT have a value likely as "P" or "S1" or "S2" or "S3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by e-mail.

ALERT FORMATION for TREND UP START
"TREND UP START on M30 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND UP END
"TREND UP END on M30 price_close 1.12345"





TREND UP START on M15

① TS D1 > 0.4 on current candle
          &&
② H4 > 0.8 on current candle
          &&
③ H1 > 0.8 on current candle
          &&
④ M30 > 0.8 on current candle
          &&
⑤ M15 > 0.8 on current candle
          &&
⑥ Pow H4 Lime color and "*" mark on current candle
                     &&
⑦ H1 Lime color and "*" mark on current candle
                     &&
⑧ M30 Lime color and "*" mark on current candle
                     &&
⑨ M15 Lime color and "*" mark on current candle
                     &&
⑩ TP2 H4 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑪ H1 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑫ M30 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑬ M15 Lime color and "R1" / "R2" / "R3" on current candle
In the area of "TP2", all time frames(H4, H1, M30 and M15) should have a same value at the same time.
For example, if H4 has a value "R1", then H1, M30 and M15 should have a value "R1".
And all "R1" on H4, H1, M30 and M15 should show a Lime color at the same time.
And also, all time frames(H4, H1, M30 and M15) should NOT have a value likely as "P" or "S1" or "S2" or "S3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by e-mail.

ALERT FORMATION for TREND UP START
"TREND UP START on M15 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND UP END
"TREND UP END on M15 price_close 1.12345"





TREND UP START on M5

① TS D1 > 0.4 on current candle
          &&
② H4 > 0.8 on current candle
          &&
③ H1 > 0.8 on current candle
          &&
④ M30 > 0.8 on current candle
          &&
⑤ M15 > 0.8 on current candle
          &&
⑥ M5 > 0.8 on current candle
          &&
⑦ Pow H4 Lime color and "*" mark on current candle
                     &&
⑧ H1 Lime color and "*" mark on current candle
                     &&
⑨ M30 Lime color and "*" mark on current candle
                     &&
⑩ M15 Lime color and "*" mark on current candle
                     &&
⑪ M5 Lime color and "*" mark on current candle
                     &&
⑫ TP2 H4 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑬ H1 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑭ M30 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑮ M15 Lime color and "R1" / "R2" / "R3" on current candle
                     &&
⑯ M5 Lime color and "R1" / "R2" / "R3" on current candle


In the area of "TP2", all time frames(H4, H1, M30, M15 and M5) should have a same value at the same time.
For example, if H4 has a value "R1", then H1, M30, M15 and M5 should have a value "R1".
And all "R1" on H4, H1, M30, M15 and M5 should show a Lime color at the same time.
And also, all time frames(H4, H1, M30, M15 and M5) should NOT have a value likely as "P" or "S1" or "S2" or "S3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by e-mail.

ALERT FORMATION for TREND UP START
"TREND UP START on M5 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND UP END
"TREND UP END on M5 price_close 1.12345"










Conditions for TREND DOWN

TREND DOWN START on M30

① TS D1 < -0.4 on current candle
          &&
② H4 < -0.8 on current candle
          &&
③ H1 < -0.8 on current candle
          &&
④ M30 < -0.8 on current candle
          &&
⑤ Pow H4 Red color and "*" mark on current candle
                     &&
⑥ H1 Red color and "*" mark on current candle
                     &&
⑦ M30 Red color and "*" mark on current candle
                     &&
⑧ TP2 H4 Red color and "R1" / "R2" / "R3" on current candle
                     &&
⑨ H1 Red color and "R1" / "R2" / "R3" on current candle
                     &&
⑩ M30 Red color and "R1" / "R2" / "R3" on current candle


In the area of "TP2", all time frames(H4, H1 and M30) should have a same value at the same time.
For example, if H4 has a value "S1", then H1 and M30 should have a value "S1".
And all "S1" on H4, H1 and M30 should show a Red color at the same time.
And also, all time frames(H4, H1 and M30) should NOT have a value likely as "P" or "R1" or "R2" or "R3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by e-mail.

ALERT FORMATION for TREND DOWN START
"TREND DOWN START on M30 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND DOWN END
"TREND DOWN END on M30 price_close 1.12345"





TREND DOWN START on M15

① TS D1 < -0.4 on current candle
          &&
② H4 < -0.8 on current candle
          &&
③ H1 < -0.8 on current candle
          &&
④ M30 < -0.8 on current candle
          &&
⑤ M15 < -0.8 on current candle
          &&
⑥ Pow H4 Red color and "*" mark on current candle
                     &&
⑦ H1 Red color and "*" mark on current candle
                     &&
⑧ M30 Red color and "*" mark on current candle
                     &&
⑨ M15 Red color and "*" mark on current candle
                     &&
⑩ TP2 H4 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑪ H1 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑫ M30 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑬ M15 Red color and "S1" / "S2" / "S3" on current candle


In the area of "TP2", all time frames(H4, H1, M30 and M15) should have a same value at the same time.
For example, if H4 has a value "S1", then H1, M30 and M15 should have a value "S1".
And all "S1" on H4, H1, M30 and M15 should show a Red color at the same time.
And also, all time frames(H4, H1, M30 and M15) should NOT have a value likely as "P" or "R1" or "R2" or "R3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by e-mail.

ALERT FORMATION for TREND DOWN START
"TREND DOWN START on M15 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND DOWN END
"TREND DOWN END on M15 price_close 1.12345"



TREND DOWN START on M5

① TS D1 < -0.4 on current candle
          &&
② H4 < -0.8 on current candle
          &&
③ H1 < -0.8 on current candle
          &&
④ M30 < -0.8 on current candle
          &&
⑤ M15 < -0.8 on current candle
          &&
⑥ M5 < -0.8 on current candle
          &&
⑦ Pow H4 Red color and "*" mark on current candle
                     &&
⑧ H1 Red color and "*" mark on current candle
                     &&
⑨ M30 Red color and "*" mark on current candle
                     &&
⑩ M15 Red color and "*" mark on current candle
                     &&
⑪ M5 Red color and "*" mark on current candle
                     &&
⑫ TP2 H4 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑬ H1 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑭ M30 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑮ M15 Red color and "S1" / "S2" / "S3" on current candle
                     &&
⑯ M5 Red color and "S1" / "S2" / "S3" on current candle


In the area of "TP2", all time frames(H4, H1, M30, M15 and M5) should have a same value at the same time.
For example, if H4 has a value "S1", then H1, M30, M15 and M5 should have a value "S1".
And all "S1" on H4, H1, M30, M15 and M5 should show a Red color at the same time.
And also, all time frames(H4, H1, M30, M15 and M5) should NOT have a value likely as "P" or "R1" or "R2" or "R3".

If all conditions mentioned above were satisfied at the same time, then it will send an alert it by email.

ALERT FORMATION for TREND DOWN START
"TREND DOWN START on M5 price_close 1.12345"

After all conditions were satisfied at the same time, non- satisfied conditions at the same time will happen.
At this time, it will send an alert it by e-mail.

ALERT FORMATION for TREND DOWN END
"TREND DOWN END on M5 price_close 1.12345"



-  -

